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1. The mature phase of Indus Valley
Civilization falls between

[A] 2200-1750 B.C.
[B] 2600-1900 B.C.
[C] 2500-1500 B.C,
[D] 3300-1300 B.C.

2. Which of the Vedas is divided into

Black and White?
[A] Rigveda

[B] Yajurveda

[C] Both [A] and [B]
[D] Samaveda

3. The term Sravakayana is used to

4. The theory of ‘Great

represent which Buddhism?

[A] Nikaya Buddhism

[B] Mahayana Buddhism g
[C] Hinayana Buddhism =
[D] Both [A] and [C]

Elect’
(Mahasammata) during ancient

period of Indian history can be
equated to

[A] the theory of social contract

[B] the theory of survival of the
fittest

[C] the theory of natural justice
[D] None of the above

5. The Mahabharata and Ramayana

were canonised during which
period?

[A] The Mauryan period

[B] The Gupta Age

[C] Later Gupta period

[D] The Rajput period

The Persian translation of
Rajatarangini was done during

[A] Akbar, the Great’s time

[B] Aurangzeb’s time

[C] Badshah of Kashmir’s time
[D] Lalitaditya'’s time
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7. The Qutub Minar of Delhis is

dedicated to

[A] Qutubuddin Aibak

[B] Sufi Saint Bakhtiyar Kaki
[C] Ntutmish

[D] Nizamuddin Auliya

8. Karnata Rajya’ was another name

of which Empire?

[A] The Pallavan kingdom
[B] Satvahana empire
[C] Chera kingdom

[D] Vijayanagara empire

9. Dam’ coins introduced by Sher

Shah were

[A] silver coins

[B] bronze coins

[C] copper coins

[D] mixture of silver and bronze

10. During its highest expansion, the

southernmost tip of the Mughal
Empire was

[A] Golkonda
[B] Jinji

[C] Bijapur
[D] Tanjore

11. Which was the first estate to

accept subsidiary alliance?
[A] Satara

[B] Awadh

[C] Nizam of Hyderabad
[D] Mysore

12. The Supreme Court at Fort

1-A

William, Calcutta was founded by
[A] Regulating Act, 1783

[B] Regulating Act, 1773

[C] Charter Act of 1813

[D] Charter Act of 1833
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13. The original name of Ghadar Party

14.

15.

16.

17.

was
[A] Revolutionary Party of India
[B] Hindustan Republican Army

[C] Pacific Coast
Association

[D] Both [B] and [C]

Simon Commission was a group of
how many members?

[A] 5

[B] 6

[C] 8

[D] 7

The State of Orissa became a

separate State from Bengal by
which Act?

[A] Charter Act of 1833

[B] Government of India Act, 1935
[C] India Independence Act

[D] None of the above

Viticulture is a speciality of which
region?

[A] Tropical region

[B] Humid region

[C] Mediterranean region

[D] Tundra region

The age of the Earth is about
[A] 45 billion years
[B] 4-3 billion years
[C] 4-8 billion years
[D] 49 billion years

18. Which among the following is not

related with Biodiversity?
[A] Genetic variation

[B] Species variation

[C] Spatial variation

[D] Ecosystem variation

Hindustan
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20.

21.

22,

23.

24.

1-A

Which of the following layers
contains ozone layer?

[A] Thermosphere

[B] Mesosphere

[C] Stratosphere

[D] Troposphere

Which of the following depositional
activities forms tillite?

[A] River deposition

[B] Glacier deposition

[C] Wind deposition

[D] Ground water deposition
Which among the following is not
a part of denudational processes?
[A] Weathering

[B] Mass wasting

[C] Transportation

[D] Sedimentation

Green Revolution in India is not
successful in the

[A] Beas valley [=;
[B] Brahmaputra valley EAE
[C] Kaveri valley

[D] Satluj valley

How much is the percentage share

of India’s population to the world
population as per 2011 Census?

[A] 16'5

[B] 17

€] 175

[D] 18

Which among the following goods

contribute maximum in the world
export from India?

[A] Manufactured goods
[B] Agricultural goods
[C] Fuel and mining
[D] Pharmaceuticals
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' 25.

27.

28.

29.

30.

Which of the fnllc-wiﬁg is not a
commercial city?

[A] Adis Ababa

[B] Frankfurt

[C] Manchester

[D] Mumbai

Who among the following has
termed ‘Drafting Committee’ as
‘Drifting Committee’?

[A] N. Gopalaswami Ayyangar

[B] Naziruddin Ahmad

[C] 8. N. Mukherjee

[D] T. T. Krishnamachari

Advisory jurisdiction of ‘Supreme
Court’ has been borrowed from the
Constitution of which country?

[A] Britain

[B] France @'E‘
[C] Canada S
[D] South Africa

Which of the following provisions of
the Constitution can be amended by
special majority of the Parliament and
do not require consent of States?
[A] Election of President

[B] Any list in 7th Schedule

[C] Representation of States in
Parliament

[D] Fundamental Rights

By which Constitutional Amendment,
Sikkim was granted full statehood?

[A] 24th Constitutional Amendment
[B] 25th Constitutional Amendment
[C] 35th Constitutional Amendment
[D] 36th Constitutional Amendment

Which of the following reports of 2nd
Administrative Reform Commission
deals with ‘Ethics in Governance’?

[A] 2nd Report
[B] 4th Report
[C] 7th Report
[D] 9th Report
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31.

32.

33.

34.

35.

36.

1-A

Which of the following States was
the first to establish ‘Institution of
Lokayukt'?

[A] Rajasthan

[B] Maharashtra

[C] Bihar

[D] Gujarat

The concept of ‘Citizen Charter’ was
first articulated and implemented
in which year?

[A] 1985

[B] 1987

[C] 1991

[D] 1994

On whose recommendation, was
Department of Personnel created
in 1970 in India?

[A] Paul H. Appleby

[B] K. Santhanam

[C] Gorwala Committee

[D] 1st Administrative Reform
Commission

Which of the following Articles deals
with ‘Audit of Account of Panchayats™?

[A] 243 -1
[B] 243 -J
[C] 243 -K
[D] 243 - L
Which of the following Committees

recommended the ‘two-tier system’
of Panchayati Raj?

[A] G. V. K. Rao Committee
[B] L. M. Singhvi Committee
[C] Ashok Mehta Committee
[D] Gadgil Committee

What are the types of economic
development?

1. Balanced
II. Unbalanced
IIl. Progress
IV. Growth

Choose the correct answer from
the options given below :

[A] 1and II

[B] II and III
[C] 1I and IV
[D] II and IV
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37. What are the parameters of

development?

% I. Social and economic indicator

38.

39,

40.

II. Physical quality of life index
IIl. Infrastructure
IV. Balance of environment

Choose the correet answer from
the options given below :

[A] Il and IV

[B] I and II

[C] I and I

[D] IV and 1

What are the important measures
of sustainable development?

[A] Technology

[B] Reduce, reuse and recycle
approach

[C] Resource utilization and
improving quality of life

[D] All of the above
When was NABARD established in
India?
[A] 19th July, 1980
[B] 19th July, 1981
[C] 12th July, 1982
[D] 19th July, 1983
What is the sector of India’s Foreign
Trade?
I. Import
II. Export
III. Balance of Payment
IV. Balance of Trade

Choose the correet answer from
the options given below :

[A] Iand II

[B] II and IV
[C] III and II
[D] II and I

37.

38.

39.

ST & WIEUE T 87

1. W Td S gu

11. Sfta w1 Hiferes TUrEdT I
1. YR F

V. gatewr §qed
Prrferign freped] #f @ w@t SO0 -
[A] II 3R IV

B] 131

[C] 1 3R I

[D] IV 3R 1

Gy fes s e % Tea

YT 4 E 7

[A] TRl

[B] e, gada, framsfee gt

[C] HaTeHT T IuANT a7 Sfa TurET §
L

[D] 37 Wt

WA § NABARD ! TG e g§7

[A] 19 FeE, 1980

[B] 19 I8, 1981

[C] 12§, 1982

[D] 19 I, 1983

Wi 1 foesf smw & w27
1. MW
11. fafa

1. AW §ged

IV. SR HgeH
Frtferfen foepedt & @ wft 3o 3 -
[A] 131

[B] Il 3R v

[C] I 3 11

(D] I 3K |



41. When did 14 Commercial Banks’

LELE0L

B

2"‘

43.

44,

45.

46.

47.

Nationalisation take place in India?
[A] 19th May, 1969

[B] 19th June, 1969

[C] 19th July, 1969

[D] 19th August, 1969

When was LIC of India established?
[A] 1954

[B] 1955

[C] 1956

[D] 1957 :
When was Pradhan Mantri Jan
Dhan Yojana started?

[A] 26th July, 2014

[B] 28th August, 2014

[C] 28th September, 2014

[D] 28th October, 2014

When were the steps towards

economic reforms taken by
Government of India?

[A] 1990

[B] 1991

[C] 1992

[D] 1993

When was the WTO agreement
signed by the Government of India?
[A] 10th December, 1994

[B] 20th December, 1994

[C] 30th December, 1994

[D] 1st January, 1995

Which of the following is measured
by Electron Volt (EV)?

[A] Charge

[B] Potential difference
[C] Current

[D] Energy

Light year is a unit of
[A] distance

[B] time

[C] energy

[D] intensity of light

41.

42.

45.

46.

47.

ST i 1.4 ST e o TSI P

BI7

[A] 197, 1969

[B] 19 S, 1969

[C] 19 {8, 1969

[D] 19 37T, 1969

et i e e o6 o e g
[A] 1954

[B] 1955

[C] 1956

[D] 1957

FUEHA 9 U AT e I gé?
[A] 26 I, 2014

[B] 28 34, 2014

[C] 28 faa=, 2014

[D] 28 3HE, 2014

TR TR g AT GUR 1 AL Fa
Feq I3 T 7

[A] 1990

(B] 1991

[C] 1992

[D] 1993

RE TR o fave =R g W S
gEane feman 7

[A] 10 femesr, 1904

[B] 20 fegmr, 1994

[C] 30 femm=r, 1994

[D] 1 99adl, 1995

= o &+, séagﬁaﬁﬁimmmm
a7

[A] e

[B] favwar

[C] &m

[D] =t
TehTeT a9 WIS B

(A] gt =

[B] &Wa I

[C] Tt T

[D] wehTer %l dftsra &

[P.T.O.



.ace of ice is dropped in a vessel
i goﬁieaining kerosene oil, when ice
melts, the level of kerosene will
|A] rise
(B] fall
[C] remain same
[D] None of the above
In radio, television and cell phone,

information is sent through optical
fibre in the form of

[A] cathode rays
[B] electric signals
[C] light

[D] electromagnetic waves

49.

Which of the following is not a part
of neuron?

[A] Axon

[B] Dendrites

[C] Synapse

[D] Nissl bodies
Cardiology is the study of
[A] heart

[B] kidney

[C] liver

[D] tooth decay

51.

52.
include

[A] infrastructure as a service %
[l L]
0110

[B] platform as a service
[C] software as a service

[D] allotment of electromagnetic
spectrum

S53.

band?

[A] Only low frequency (less than
1 GHz) of UHF

[B] Only frequencies between
1 GHz to 6 GHz of UHF

[C] Only very high frequencies
greater than 6 GHz

[D] Both low frequencies (less than
1 GHz) to high frequencies
(1 GHz t{I}{E GHz) and also more

1-A

Cloud computing services do not

The next generation 5G technology
will use range of which frequency
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54. Use of an ordinary telephone as an
internet application is called

[A] voice net
[B] voice line
[C] voice portal
[D] voice telephone
55. Average annual rainfall of Jharkhand
State is
[A] 1010 mm
[B] 1400 mm
[C] 1720 mm
[D] 1880 mm
56. National Centre of Organic Farming
is situated at
[A] Ghaziabad
[B] Hyderabad
[C] Bhopal
[D] New Delhi
57. Average cropping intensity of
Jharkhand State is
[A] 108%
[B] 135%
[C] 128%
[D] 155%

58. Nutri-cereals refer to
[A] cereal crops
[B] oilseed crops
[C] small millets

[D] None of the above:

59. Very drought resistant crop is
[A] moong
[B] bajra
[C] jowar
[D] wheat
60. Which crop has the highest area
in Jharkhand State?
[A] Rice
[B] Wheat
[C] Maize
[D] Gram
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-61.

63.

65.

1-A

Who invented ‘Warang Citi’ script
for Ho language?

[A] Narayan Oraon

[B] Raghunath Murmu
[C] Ramchandra Birua
[D] Lako Bodra

Which tribe of Jharkhand celebrates

the custom of ‘Jani Shikar’ every
twelfth year?

[A] Bedia

[B] Asur ,

[C] Oraon

[D] Birhor

With which movement was ‘Sardari
Larai’ ultimately merged?

[A] Swadeshi Movement

[B] Quit India Movement

[C] Birsa Movement

[D] Tarachand Movement

. Who compiled and edited ‘Linguistic

Survey of India’?

[A] G. A. Grierson
[B] N. K. Bose

[C] Premchand Horo
[D] C. H. Bompass

Which region of Jharkhand is
prominently associated with
‘Chhau’ dance?

[A] Seraikela-Kharsawan
[B] Dumka
[C] Khunti
[D] Latehar
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66.

67.

68.

69.

70.

1-A

Who is credited with the formation
of the Kolhan Government Estate’
in 18377

[A] Major E. Roughsedge

[B] Captain Thomas Wilkinson

[C] Captain E. T. Dalton

[D] Bishop Heber

Who started the ‘Chotanagpur

Catholic Cooperative Credit: Society’
in 19097

[A] W. W. Hunter
[B] Baden Powell
[C] Joseph Kujur
[D] J. B. Hoffmann

Who among the following was the
leader of the Kherwar Movement™?

[A] Tilka Manjhi

[B] Ganga Narayan

[C] Ghasi Singh

[D] Bhagirath Manjhi

Who started Haribaba Movement in
Singhbhum?

[A] Kanu Ram Deogam

[B] Jitu Santhal

[C] Duka Ho

[D] Mata Ho

Which among the following groups
performs ‘Jatra’ dance in

Jharkhand?
[A] Females only
[B] Males only

[C] Females and males together in
group
[D] None of the above
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[A] aa faat
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[C] & 3 ge8 wy-w wg &
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71.

73.

74.

75.

1-A

president Droupadi Murmu .Wa_s
conferred with ‘the Grand Order of
the Chain of Yellow Star’, the
highest civilian honour of which
country?

[A] Fiji

[B] Palau

[C] Papua New Guinea

[D] Suriname

In June 2023, Indian Navy and
DRDO successfully engaged
and destroyed an underwater

target by using heavy weight
torpedo. . B

[A] Vaayuastra
[B] Agniastra
[C] Neerastra
[D] Varunastra

On the occasion of World
Environment Day 2023, PM Modi
has launched the ‘Amrit Dharohar’
and MISHTI schemes. In the cli#!
of MISHTI scheme, this schea#sis
related to :

[A] mangrove

[B] mango

[C] mahogany

[D] millet

The Special Olympics World
Summer Games, 2023 was held in
which of the following cities from
17th June to 25th June, 20237

[A] Munich

[B] Berlin

[C] Hamburg

[D] Frankfurt

In June 2023, Novak Djokovic won

his ____ Grand Slam men'’s singles
title at the 2023 French Open title.

[A] 22nd
(B] 23rd
[C] 24th
[D] 25th
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T5.

& $1 &1 et Frorm % e H, 3 ae
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[A] HE

[B] 3™

[C] HERTt

[D] ==
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A] =IfFE
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[C] e
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[A] 229
[B] 23
[C] 240
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76. What is the theme of World Day

77.

75'

79.

1-A

against Child Labour, 20237

[A] Week of Action against Child
Labour

[B] Social Justice For All. End
Child Labour!

[C] Protect Children from Child
Labour |

[D] Generation of Safe and Healthy
Environment

Gita Press, Gorakhpur has been
selected for Gandhi Peace Prize for
which year?

[A] 2023
[B] 2021
[C] 2020
[D] 2022
A Multinational Peacekeeping Joint
Exercise, Ex Khaan Quest, 2023 is

being organised by which of the
following countries?

[A] Indonesia
[B] Bangladesh
[C] Mongolia
[D] India

Which of the following institutes
has emerged as the top coﬁ
under the overall category fo

fifth consecutive year in the

National Institutional Ranking
Framework (NIRF) rankings, 20237

|[A] Indian Institute of Technology,
Madras

[B] Indian Institute of Science,
Bengaluru

[C] Indian Institute of Technology,
Delhi

[D] Indian Institute of Technology,
Bombay
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Tgi

e arer o Py R, 2023 F1 T
I RY

[A] STEm ¥ faeg wiaTs &1 YHE
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[A] 2023

(B] 2021

[C] 2020

[D] 2022
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[A] SRR
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[A] R srenfiehr s, A
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[C] WS Wrenfieh dem, Rt
[D] WReTE SRNfreh derm, T
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80. Consider the following statements

81.

82.

1-A

about Integrated Child Development
Services (ICDS) Scheme :

I. It is a centrally sponsored
' scheme. ¥

II. It was launched in 1975 to
break the international cycle
of malnutrition,

It is implemented by the
Ministry of Women and Child
Development.

How ‘many statements given above
is/are correct?

[A] Only I

[B] Only I

[C] All three

[D] None of the above

II1.

Consider the following statements :

. India ranks fourth in wind
power capacity in the world.
II. India has a potential of about
60000 GW of wind energy.
Tamil Nadu is the largest
producer of wind energy.

How many statements given above

is/are correct?

III.

[A] ‘Only 1 e
[B] Only II PeuE
[C] All three

[D] None of the above

Consider the following statements
about e-RUPI :

I. e-RUPI is basically a digital
voucher which a beneficiary
gets on his phone in the form
of an SMS or QR code.

II. e-RUPI does not require
beneficiary to have a bank

account or debit card or credit
card.

III. e-RUPI is operable on any type
of basic phone.

‘How many statements given above
is/are correct?

[A] Only I

[B]. Only II

[C] All three

{{D] None of the abave "
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ﬁw&en was G20 established?
[A] 1995 I
[B] 1999
[C] 1985
[D] 2000
‘84. What is the theme of the G20 Summit
. happening in India?

“[A] Shaping an Interconnected
World

[B] Fighting Poverty with Rigidity
[C] One Earth-One Family-One
Future

[D] Making the World Together

85. The main aim of SCO is to generate
cooperation between member
nations on

[A] resolving border issues
[B] countering terrorism
[C] economic cooperation

[D] All of the above

86. Which of the following statements
is not correct regarding the
National Human Rights Commission

- (NHRC)?

[A] Only a retired Chief Justice of
India can be appointed as its
Chairman :

[B] Its Chairman and members

- hold office for a term of five
years or until they attain the
age of 65 years, whichever is
earlier _

[C] It cannot inquire Suo Moto into

any violation of Human Rights
by a public servant

[D] It has all the powers of a civil
court and its proceedings have
a judicial character

1-A

83! G20 T wa g A7

[A] 1995
(B] 1999
[C] 1985
[D] 2000

i § B @ G20 firay asew & o

(A] T st fave - STER ST
(B] T | FIRaT & WA

(C] T geAft-T TRER-T wfes

[D] g W T A1y AT
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it 3 ofr TR e W WEENT S BT R
[A] o et GEf w1 FEEE S
[B] HTAeHETE 1 HHES! HET

[C] i wEam

[D] I gt 3

T AHETYSR 3 (NHRC) % 99y

3 Prefefed # @ SN-T wuA w@ 2

[A] %99 WTA % TH FAAgd g
IR W IEH AAW b ®9 A
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[B] $5% W 3R He& e e H
Fafy % foT 91 65 99 1 A WH
F 7%, F T A, WA
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[C] 97 Tohet Wi dareh, GI0 WU
 Iowle S T S TE HFhl
% | : .

(D] v fafaer =1E <t aft ot € afk
Fah! Al T =l 9fe 6t @
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87. C.onmd.-..r the following statements
g the State Human Rights
Cummiasmn (SHRC) :

. Its Chairperson and members,
though appointed by the
Governor, are removed only by
the President.

. On ceasing to hold office, a
Chairperson or a member shall
be ineligible for further
employment wunder the
Government of a State or under
the Government of India.

Which of the statement(s) given
above is/are correct?

[A] Only I
[B] Only II
[C] Both I and II

[D] Neither I nor II

88. Which of the following Biosphere
Reserves of India is/are protected
under UNESCO Man and Biosphere

Reserve Programme?

I. Agasthyamalai
Reserve

Biosphere

II. Panna Biosphere Reserve

. Achanakmar-Amarkantak

Biosphere Reserve

IV. Seshachalam Hills Biosphere

Reserve

Select the correct answer using
the code given below :

[A] Iand Il only
[B] I, II and III only
[C] Il and IV only

(D] II and III only
1-A
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89. With reference to the Ramsar
Convention on Wetlands, which of
thl.? fol_lnwing is/are the prescribed
criteria for a wetland to be
designated as a Wetland of
International importance?

[. A wetland should support
vulnerable, endangered or
critically endangered species

or threatened ecological
communities.

II. A wetland should regularly
Support 200 or  more
waterbirds.

II. A wetland should support plant

and/or animal species at a
critical stage in their life
cycles, or provide refuge during
adverse conditions.

A wetland should regularly
support at least 1% of the
individuals in a population of
one species or subspecies of
waterbird.

Select the eorrect answer using
the codes given below :

[A] I only

[B] I and II only

[C] II and III only
[D] 1, III and IV only

With reference to the
Intergovernmental Panel on
Climate Change (IPCC), consider
the following statements :

I. IPCC was set up in 1998 by
the World Meteorological
Organization (WMO) and
United Nations Environment

Programme (UNEP).

II. It prepares Assessment Reports
(ARs) which are published
every year.

Which of the statements given above

is/are correct?

[A] I only

[B] II only

[C] Both I and II

[D] Neither I nor II

1-A
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91. Which among

92.

93.

94.

95.

the following
statements is/are correet about
Urbanization?

I. Urbanization is a process in
which population moves from
rural to urban areas which
leads to overburden on urban
infrastructure and resources.

II. Employment is one of the
factors which brings rural

population to urban areas.
Which of the statements given above
is/are correct?
[A] I only
[B] II only |
[C] Both I and II
[D] Neither I nor II

Which State is the host of the 2nd

edition of the North East Olympics
in 20227

[A] Assam

[B] Meghalaya

[C] Arunachal Pradesh [t
[D] Sikkim ORI

Who is the first Indian to win four
medals at World Wrestling
Championships?

[A] Bajrang Punia

[B] Sakshi Malik

[C] Vinesh Phogat

[D] Ravi Dahia

The National Disaster Management
Authority (NDMA) is headed by the
[A] President of India

[B] Prime Minister of India

[C] Home Minister of India

[D] Cabinet Secretary of India

Who among the following was first
in India to discuss the concept of g
Poverty Line?

[A] Dadabhai Naoroji
[B] P. C. Mahalanobis
[C] Amartya Sen
[D] M. N. Roy
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a7.

98.

1-A

1. Icvelanfi:1mme and consumption
II. Social indicatorg
III. Socio-political Vulnerability

Select the correct
: answer f;
code given below : S the

[A] Tand II only

[B] I and 111 only

[C] O and 111 only

[D] Al L, IT and I

In the context of Government

financipg, the term ‘helicopter
money’ is best defined as

[A] the recovery of unpaid taxes
from tax havens and using the
same for Government expenses

the abrupt increase in
Government subsidies to give
a boost to ailing sectors in an
economy

[B]

[C] large sum of new money that
is printed and distributed
among the public to stimulate
the economy during a
recession, just like helicopter

scattering supplies from the
sky

a situation in which the
revenue income of a

Government in a given
financial year is more than the

estimated amount

[D]

The Nobel Memorial Prize in
Economic Sciences, 2022 was
awarded to three scientists for
their research in which field?

[A] Behavioural Economics

[B] Banks and Financial Crises
[C] Global Poverty

[D] Quantitative Methods
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09. Consider the following statements

in respect of Bharat Ratna and
Padma awards :

I. The number of Bharat Ratna
awards is restricted to a
maximum of three in a
particular year,

II. Bharat Ratna and Padma
awards are titles under the
Article 18 (1) of the
Constitution of India.

IIl. Padma awards, which were
instituted in the year 1954,

were suspended only once.

Which of the above statement(s) is/
are not correct?

[A] Iand II only

{B] I, IT and III

[=]35[E]
C|] II and III onl Ui
(€l e peh
[D] III only

100. Which of the following institutions

1-A -

are part of World Bank?

Bank for

and

I. International
Reconstruction
Development (IBRD)

II. International Development
Association (IDA)

International Finance

Corporation (IFC)

II.

Multilateral Investment
Guarantee Agency (MIGA)

IV.

International Centre for the
Settlement of Investment
Disputes (ICSID)

Select the correct answer using the
code given below :

[A] I and II only

[B] I, 1II, IV and V ‘only
[C] L, IL, IIL, IV and Vv
[D] I II, III and IV only
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